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TEET(KF)2—F {TBHET(KF)®  30m 31 32&% 33m& 34mk 35m 36i% 37k 38mk 39k

1250 {EERT 1 0 0 1 2 3 2 1 2 1
1260 fEH & 0 1 0 0 0 0 1 1 1 0
1270 FEEHT 3 1 1 0 2 1 2 2 0 1
1280 FRAHET 2 2 1 1 2 0 1 5 6 0
1290 £ HT 2 0 2 0 0 2 3 3 3 3
1300 % ZEHT 2 1 0 1 1 1 1 0 1 2
1310 RLHET 0 1 0 0 1 0 0 1 0 2
9999 XH M &t 63 74 69 73 86 75 82 99 86 91
1510 HEHD L BT 8 10 3 6 9 13 8 3 8 5
1520 HEHD T BT 5 5 5 2 7 7 4 5 7 5
1530 HEHNFTHET 3 2 2 4 4 3 1 1 2 3
1540 K1a2<FHT 10 4 4 5 5 4 2 4 4 6
9999 HEMNME X &t 26 21 14 17 25 27 15 13 21 19
2010 Z E AT 0 4 4 3 1 1 3 1 5 3
2020 % &7y 0 2 3 1 3 5 1 2 5 8
2030 LBHT 0 0 0 1 1 0 0 0 0 0
2040 ;MET—TH 0 3 1 0 1 8 2 1 1 2
2050 ;BT =T H 2 2 0 0 0 4 1 4 2 1
2060 5 MET 0 0 0 0 0 1 0 1 0 1
2070 ¥ xET—TH 1 2 2 2 3 1 3 1 2 2
2080 FRETZTH 2 2 1 0 4 0 2 1 2 1
2090 wis AT 13 17 11 8 10 12 14 16 18 16
2100 HiLET 1 3 2 3 4 7 5 3 2 3
2110 HEHIFET—T B 2 1 1 1 4 2 0 5 5 1
2120 HEMIFTET T H 2 2 3 4 2 3 1 2 4 5
9999 EERXET 23 38 28 23 33 44 32 37 46 43
2510 FRUZHT 16 19 20 24 24 28 28 23 19 15
2520 sk EEHT 10 11 17 12 14 15 20 20 24 17
2530 =/\RHET 7 5 4 4 5 8 3 3 3 5
2540 FHi5HT 1 3 2 3 3 4 2 1 2 2
2550 jHHT 3 4 2 2 4 3 0 5 2 4
2560 = ST 8 5 5 12 5 9 7 14 10 15
2570 K EHT 0 2 0 0 0 0 0 1 1 0
9999 MERXET 45 49 50 57 55 67 60 67 61 58
3010 K#FTHT 7 6 5 8 9 11 6 10 6 14
3020 ;L iIHET 13 7 8 9 11 13 22 11 6 7
3030 _-EFHT 5 6 5 6 9 9 13 7 9 6
3040 HES LHT 1 1 2 0 2 2 0 1 2 2
3050 H AT 33 26 21 31 23 32 33 32 38 33
3060 HESTHT 4 3 4 2 2 6 3 4 3 6
3070 T EREHT 2 5 4 5 1 3 4 2 5 7
3080 HHHMET 5 1 7 3 5 7 6 2 8 7
3090 FHHRE AT 6 4 2 2 6 2 6 7 8 5
3100 HAFHHET 8 7 8 8 7 7 5 8 7 8
3110 HepILHET 3 4 7 2 2 4 5 4 3 8
9999 /\ T X &t 87 70 73 76 77 96 103 88 95 103
3510 2R LHT 1 0 1 1 3 2 1 1 1 1
3520 SR T 2 3 2 1 2 4 5 5 2 1
3530 E[RTHT 10 13 8 12 7 14 7 9 7 11
3540 ZF= R AKHT 3 1 1 2 0 2 3 2 1 1
3550 AEFHT 4 6 5 6 6 8 3 9 8 5
3560 &= FER AT 1 2 0 3 5 2 0 2 3 3
3570 & ARy 8 10 5 3 11 7 10 11 2 6
3580 F | LIFTHET 5 10 6 9 5 5 8 3 10 5
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FIRET (KXF)a—K {THRHET (KF) 4
3590 EHT
9999 S HKXET 3
4010 E4)I|NET
4020 &S HT
4030 1ZHET
4040 SHEAHT
4050 7K EH/T
4060 EZZ HHET
4070 dt[RHET
4080 =;T;HAMT
4090 FRERHT
4100 FEEFOET
4110 JtFFnmT
9999 £ MIBXET 2
4510 EREE—ZEHT
4520 EREE —ZEHET
4530 AREE=ZHT
4540 EREEPYZEHET
4550 EREEFH FHMET
4560 EREE/NFEHET
4570 EREE-EZFEHET
4580 EREE/\ZFEHT
4590 EREE N ZEHT
4600 EREE+FEET
4610 AREE+—ZBHT
4620 EREE+ —ZBHT
9999 ERERIX 5T 2
5010 HRFN A HEHT
5020 RZFNBAELHET
5030 REFOMR]{—HT
9999 RAFIMX &t
5510 ph R HT
5520 = H#hfT
5530 74'= M
5540 T EEHT
5550 ERHT
9999 E i X &t 1
6010 FEIET/MER
6020 [EI BT
6030 REIETA I
6040 i FHET
6050 JI| ABTER
6060 JI| AETFE
9999 FEERXET
6510 H = AHTEAHT
6520 HZE A KIEHET
6530 B = AFHHET
6540 BZEALLUTHT
6550 B &AM 2 RHET
6560 B Z=AiGILET
6570 HRAIEmHET
6580 HZE A EMT
6590 H &= AEHET
6600 B &= AT
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FIRET (KXF)a—K {THRHET (KF) 4
6610 H&RA L FGHET
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9999 HEARKKET
7010 Z B;M O ET
7020 — B AHT
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8090 I AHT HiEE
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9140 $RET T4
9150 $EMT 55
9160 SRETEERT
9170 $=ETNH
9180 fEMTSR
9190 #ZMATZ O
9200 $=HT EF U

NODRAJAOWOAONNPIAPODNO L0 OOOO 0000000000000 —~00O0OMNONODOVWW—_OWMNMNOOGLO—~0O——0

CA)—L—&
NN = DOODUOITOODODO0ODO0ODO0DO0DO0DO0O—~00000D0D0D0D0D0ODL0DO0O WO —T00O0OO0O 0000 —~0O0

—h
W= JWwWow-—=0Oo

AP, O - - 0000~ 00—~ 000000CO0ODO0COO—~0OMNOPM—~=~DMNO—~ONMNMNOODOOOO

=N
—_ - —

»

WO AN N—- OO

CA)—L—&
NON—= DO JOOOOOO—-~00O0NOODODODODODODODO0ODO0OO == 0NOWONMNDMNMNDMNDMNOUGIOO -0 wOo

—h
N = JOBMNNMNO-=—=

W = =
— 2 WNOO DM PAPNMNNDPDPOAOAPL,PIWUIUOO 2000 O0ONOO0ODO0ODO0DO0ODO0DO0DO0DO0D0DO0O0DO0DO0OOMNOW =00 —~000—=MNMNODO

— —
N0 OO PMAOOOOOOOOO - —- 000000~ 00000 —T0OUIO—~O0OW—-0O0OO0OO0OO—=O0

N
w o

N = 40000 h wWw-—=NDN

— 001 O~ 00000000 —~000 00000 O0CO—~0ONOONMNWMNMMNMNOO—~~OOO

W = =
H W= O

—_
O - WO da-=N

— —
T NN O OO OO0 O0OO0O—-~0O0NMNOODODODODO—~0O0ONOON—-"O0OO0ONOMNOWNOWMOOOOODO

S
o

—h
WWhhoOCTOWW-—-0OC

—_
OO0~ 00000000000 —~~0 00 —~~00 W= 0MNMNO—~~O 00000 OOO

—_ -
(=23 &) I

N
o

—_
W WO OJOWN A~

30i% 31mE 32 33 34mk  35mk 36 37wk 38mk 39

PO JTOOO -~ 00—~ 0—~0000 0O —~00OMNOOO 0000~ = DMOOOOOOOOo

S
- © W o J

—_
N DWW O PO W



XH247TEFREARBIREZD—FHREIZKYNBEAZEDH=-AO
(R4.2.281R7E )ATERET 4 (K=F) Al & Al A O (5)

AERET(KF)a—F {THET(KF)2 305 318% 328% 338 34/ 358% 36ik% 375 38 39i%
9210 $RETE H
9220 £X T H
9230 SEHET B M
9240 $RHTIEE
9250 SRETALHTih
9999 FERXET 5
9310 EIFHTR
9320 R FZHATIL
9330 E[FZHT/INE
9340 HIGHTEY
9999 RFHRXET
9410 RETT &
9420 RETHHE
9430 RETER
9440 RETAEF
9450 RETHE[R
9460 RET{—_HE
9470 RETZER
9480 RETHEAR
9999 RIXXEt
99999 M &ET 502 504

— = OO N O

D=
oo
[=2]
($)]
[=2]
o —
[ee]

(S]]
~

— 0O 0000~ 00U NMNOWO -0 —0 = h
PO OO 00N - =000 —=NMNMNMNNMNMNOO B>
OO PP O OCOO0OCO—-~0WPrW—-O0O0O PO PDMOoOWPPDOo
AP OOOCDOOOMNMNNAE=L—=OMNNODWPLPWLN
ONOOOOOOONIMOPMMPODOINWO WH
OO OO OO0 OCOO0OONWN—-—00 —0OodJou
N OO OO OO OO - P PhpWOO—-=-DNIP,OMDN
N0 00000 -0~ 00 —-~0W—=WwVow
DO OO OOONOOOODOANNO—=OWNNDN

WO OOODOO—=-NWOOW—= — —=

I
©
ol
w
()]
(&)}
o)
o
o
=
o
W
o
N
o
ol



XH247TEFREARBIREZD—FHREIZKYNBEAZEDH=-AO
(R4.2.281R7E )ATERET 4 (K=F) Al & Al A O (5)

AHRET(AF)a—F {THRET(KF) 2  40m 418k  428% 43 44m  45m%  46Fk% 47 48m  49%%
10 HHET
20 FELHT
30 @MY
40 LRHET
50 AET—TH
60 AKET=TH
70 RET=TH
80 #ATIAkHT
90 FENIIRET
100 Jt D FLET
110 #¥XTHT
120 T AHET
130 #&FHT
140 HEi[EHT
150 ¥ FFHET
9999 K IFRXET
510 AETIUT B
520 TEEEHT
530 /\I&HET
540 15 =T
550 FithHT
560 =ZHT
570 & EHT
580 FrEAMAT
590 FriEHET
600 ZERAT
610 J&HT
620 #TERT—T B
630 FTEET—TH
9999 /\ &KX &t 3
1010 B & HT
1020 _E SHT
1030 &1 FrHT
1040 75/ HT
1050 = HHET
1060 3 L HT
1070 Y1 /R HET
1080 & HHET
1090 B &EHRT
1100 EHEHRT
1110 1B IEMT
1120 f21E JTHET
1130 +5&HT
1140 FkJRET
1150 #/RET—T B
1160 #F/RET—T H
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1180 BEALHET
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1220 FHET
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AHET(KF)3—F {TERET(KF)L 408 415  428% 43 44k 458% 46m% 47m  48%% 49w

1250 {EERT 4 0 3 2 1 1 1 0 2 2
1260 fBER & 0 1 0 1 0 0 0 0 0 1
1270 FEEHT 2 1 1 2 0 2 5 7 1 1
1280 FRAHET 2 3 2 1 6 3 3 1 1 5
1290 £ HT 3 0 3 4 1 6 2 4 2 2
1300 & ZEHT 2 1 1 2 0 1 3 2 1 1
1310 RLHET 0 2 0 0 0 1 0 0 2 1
9999 XH M &t 87 79 84 107 93 98 9 112 94 100
1510 HEHD L BT 3 6 11 12 13 4 11 8 11 14
1520 #EHI T HT 7 7 10 10 9 10 11 7 8 6
1530 HEHNFTHET 2 0 3 2 6 5 6 3 4 7
1540 K1ZFHT 3 6 11 5 6 6 2 11 8 6
9999 HEMNME X &t 15 19 35 29 34 25 30 29 31 33
2010 EEERHAT 2 2 2 5 1 1 4 4 1 2
2020 % &7y 3 0 2 4 4 7 1 3 7 3
2030 LBHT 0 0 0 0 0 0 0 1 1 0
2040 ;MET—TH 4 0 2 2 2 1 3 3 2 4
2050 ;BT =T H 1 0 3 3 2 1 2 2 3 1
2060 5 MET 1 0 2 0 1 1 0 1 1 0
2070 ¥ xET—TH 2 4 7 3 2 1 0 1 3 3
2080 FRETZTH 1 1 2 1 2 2 2 1 5 4
2090 wis AT 28 15 14 13 19 23 22 20 23 17
2100 HiLET 6 6 5 4 6 5 4 2 4 2
2110 HEHIFET—T B 2 4 2 3 3 2 2 3 2 5
2120 HEMIFTET T H 4 4 7 2 7 4 2 2 4 2
9999 EERXET 54 36 48 40 49 48 42 43 56 43
2510 FRUZHT 32 25 28 32 27 31 40 32 37 22
2520 sk EEHT 15 16 18 22 12 22 22 15 21 19
2530 =/\RHET 2 6 6 1 2 3 1 6 6 7
2540 FHiGHT 3 3 5 7 5 3 2 4 3 6
2550 jHHT 2 1 2 4 1 1 3 6 0 4
2560 = ST 13 7 5 10 12 11 8 13 11 12
2570 K EHT 1 1 0 3 2 0 1 1 2 1
9999 MERXET 68 59 64 79 61 71 77 77 80 71
3010 K#FTHT 16 11 10 9 17 10 14 18 15 12
3020 ;L iIHET 13 10 5 13 11 17 11 12 20 9
3030 _-EFHT 8 5 11 9 10 11 13 12 11 13
3040 HES LHT 1 0 1 4 0 0 1 1 3

3050 H AT 33 41 32 29 21 29 34 35 37 35
3060 HESTHT 5 6 3 5 6 2 5 4 3 4
3070 T EREHT 5 3 7 2 4 7 8 4 7 5
3080 HhHT 8 6 6 1 11 4 4 8 6 7
3090 FHHRE AT 4 5 9 5 5 7 8 6 5 5
3100 H 4 FEHT 5 6 2 3 5 8 8 11 5 7
3110 HepILHET 10 3 4 5 6 4 5 6 5 5
9999 /\ T X &t 108 96 90 85 96 99 111 117 117 103
3510 2R LHT 1 0 0 3 1 0 2 5 3 3
3520 2[R o 6 2 1 3 3 0 7 3 2 6
3530 E[RTHT 18 19 11 14 7 6 14 14 13 14
3540 ZF= R AKHT 1 2 5 3 6 8 2 5 8 11
3550 AEFHT 7 10 13 16 10 15 5 10 13 12
3560 &= FER AT 1 5 3 3 5 3 2 8 4 2
3570 & ARy 9 10 10 5 9 8 8 10 10 8
3580 FILIFTHT 5 8 5 5 5 8 12 7 8 6
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FIRET (KXF)a—K {THRHET (KF) 4
3590 EHT 0
9999 S HKXET
4010 E4)I|NET
4020 &S HT
4030 1ZHET
4040 SHEAHT
4050 7K EH/T
4060 EZZ HHET
4070 dt[RHET
4080 =;T;HAMT
4090 FRERHT
4100 FEEFOET
4110 JtFFnmT
9999 £ MIBXET
4510 EREE—ZEHT
4520 EREE —ZEHET
4530 AREE=ZHT
4540 EREEPYZEHET
4550 EREEFH FHMET
4560 EREE/NFEHET
4570 EREE-EZFEHET
4580 EREE/\ZFEHT
4590 EREE N ZEHT
4600 EREE+FEET
4610 AREE+—ZBHT
4620 EREE+ —ZBHT
9999 ERERIX 5T 2
5010 HRFN A HEHT
5020 RZFNBAELHET
5030 REFOMR]{—HT
9999 RAFIMX &t
5510 ph R HT
5520 &= H#hHT 1
5530 74'= M
5540 T EEHT
5550 ERHT
9999 E i X &t 2
6010 FEIET/MER
6020 [EI BT
6030 REIETA I
6040 i FHET
6050 JI| ABTER
6060 JI| HETTY
9999 FEERXET
6510 H = AHTEAHT
6520 HZE A KIEHET
6530 B = AFHHET
6540 BZEALLUTHT
6550 B &AM 2 RHET
6560 B Z=AiGILET
6570 HRAIEmHET
6580 HZE A EMT
6590 H &= AEHET
6600 B &= AT
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6660 H Z AR HET
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7050 — R 7 H I ET
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8012 IRAHTFEERA
8013 RABTFEERIL
8021 RAHTIEKLY
8022 IR AHTEKA
8023 R AHETIEKIE
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8041 R AHTHLIFL
8042 R AHTELIFEA
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9030 F THT#HEH
9040 F THTHERH
9999 F TR
9110 $RET T HIE
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